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402 212t X+=01 & 100,000 125,000 /25,000
= 50,000
[Ea 50,000
02 QI XHE AL E R (01X THE) 100,000 125,000 225,000
OBIUBISA BIETHMALY
25,000,000 x4 100,000
== 50,000
[Ea 50,000
SO0IE ZOHI =5 HEALS 45,600 45,600 0
= 22,800
== 6.840
o 15,960
402 2I2E X201 & 45,600 45,600 0
= 22,800
= 6,840
o 15,960
03 2I2+LAEAIZHI 45,600 45,600 0
OsHE OB JHEALS
3,800,000& x12S 45,600
= 22,800
= 6,840
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FA 2ESARL
Hu: ==K 2
ol SSFEHAA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 3,500
02 QI XHE AL E R (01X THE) 5,000 5,000 0
OSSFE 224 FAANE XA
5,000,000 * 104 2 5,000
== 1,500
[Ea 3,500
A2 JH|(LASALLL) 16,795 18,360 A2,565
=38l 15,795 18,360 N2,565
2AN Jl=8Hl 16,795 18,360 N2,565
201 er=2 3| 5,589 6,900 1,311
01 AtR2te|HI 5,589 6,900 A1,311
OJlzge =d 5,589,000& 5,589
202 04| 5,346 6,600 A1,254
01 =LHO LI 5,346 6,600 A1,254
oJl=ge =8 5,346,000& 5,346
203 HR=H] 4,860 4,860
4 A2 LRSI 4,860 4,860
O&& 302! 0lat 400,000 12& 4,800
O&# 312 =1t 5,000&x 122 60
HRes(2SAL) " 0 "
SPSPNES " 0 "
=Hl AIS&Y ghet 1 0 1
802 grat= DI E " 0 "
01 2 N2XSPE= " 0 "




